P28%¥B 2019FE 15 BERE
§4 E237A¥

H4 1
D x+4)(x-16)—(x—-8)(x+8)=(x* —12x —64)— (x* —64)
=x?—12x—64—x* +64

[z

©2) 2x+3)x—-4)—(x-7(x+5)=2(x*-x-12)— (x* —=2x—35)
=24 -2x-24—x*+2x+35

=[x +11]
@ (V7+2) (245 11)(245 + V11 )= (7~ 2414 +2) - 20-11)
(V) 272 4{2 ) (245) ~(viT)

—9-2J14 -9
_[-2414]

@ (6-243)(32+6)- (3\5+2)2 =(18\5+5</§—94€—2x3\5)—(18+12\5+4)

| S —

(3\/5)2 +2x32x2422

:(18\/5—6\/5)—(22+12\/§)

— 1242 -22-1242
=|-22]



H4.2
2 s 2 xD0e) (B

(

VW06 (o ds)<[ode) 2 a2

10-6=4

1

A0+ ) i e
A 2
(41046 -(+10 -6)

2
10 ++6-V10+6
2
26
2

@ 6 . 4 _ 6 X(\ﬁ+2)+ s V7
VT-2 N7+3 (V7-2)x(V7+2) (V7+3)x(V7

A
=2(ﬁ+2)—2(ﬁ—3)
=27 +4-27 +6
=[19]



H4.3

1<V2<2 k0. 2 OBEHSII1ITHY . DI/ e 1X
a:\/§—1

ThHbH, “hiv,

1 1X(J§+1) —‘E+1=\/§+1

« -1 (E-1)ee1) 21
ThdHNb,

l_a:(x@ﬂ)—(\@—l):

a

H4.4 A L K D
ENAEDO1IAOESZx < &,
A 5 = A BFG I8\ T, . ]
FG:BG=+2:172DT, BG=-X

V2 ]
kg, CH=—"%
=] \/g F I
L7=3-> T, x X

BC=BG+GH+HC x x ra

:%x2+x:\/§x+x:(\/§+1)x B%Z—yc
1IEJ7% ABCD @ 110D REBCIL 2 72272 T,
(\/§+1)x:2
p  2(V2-1)
V241l (V2 +1)(v2-1)

V2P 12=2-121

LoT, ENAFO 1 ROE ST,

=2(v2-1)




